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GCSE Exam Questions: Function Machines

1) Here is a function machine:

Input — ><7} —2} Output

(a) What is the output when the input is 67

1)
(a) What is the input when the output is 26?
1)
(2 marks)
2) (a) The output of this function machine is 25 when the input is 9.
Fill in the missing operation.
Input — X 3>— >— Output
(2)
(b) The output of this function machine is 12 when the
input is 5. Fill in the missing operation.
lnput — ... } » 4 3>— Output
(2)
(4 marks)
3) Fill in the missing values for the function machine.
Input — X>— —|—>— Output
3 — 13
5 —> 17
11 —— 29
(2 marks)
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4) (a) Use the function machine to write a formula for y in terms of 4.

h —

><2} +1}

o

Y

(b) Use inverse operations to write a formula for 4 in terms of y.
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Question Answer Marks
1) Here is a function machine:
Input — X 7>— —2>— Output
(a) | What is the output when the input is 6? (a) 40 (§))
(b) | What is the input when the output is 26? (b) 4 )
2) (a) | The output of this function machine is 25 (@) 9x3or27 1)
when the input is 9. Fill in the missing -2 6}
operation.
Input — X 3} >~ Output Input — X 3>7 —2>— Output
(b) | The output of this function machine is 12 (b) 12 = or4 1)
when the input is 5. Fill in the missing -1 1
operation.
Input — ... } b4 3} Output Input — —1} X 3>— Output
3) Fill in the missing values for the function x2 1)
machine. +7 1)
Input X>— —|—>— Output
3 — 13
o — 17
11 — 29
4) (a) | Use the function machine to write a formula (@) 2h 1)
for y in terms of 4. 2h+1 )
2h + 1 1)
h | %2 +1 =3 Y =
S -2
(b) | Use inverse operations to write a formula for | () 3y @
. 3y-1 1)
h in terms of y. . 3y — 1 )
2
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worksheets to support students in fixing any misconceptions take a look
at the free Third Space Learning GCSE maths revision pages.
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students who need
additional support in
maths?

Our specialist tutors will help students to develop the skills they need to
succeed at GCSE in weekly one to one online revision lessons. Trusted
by secondary schools across the UK.
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